Name: _____________________________						 Hour: _________

Advanced Angle Relationships: Homework #1

Find the measure of EACH numbered angle. Justify the set up! 
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[image: ]Use the diagram to complete the statement. Justify the set up! 

7. m<KPL= _______	8. m<LPN= ________



9. m<MPN= ______	         10. m<MPO= _______


Find the value of the variable and find the m<PQR. Justify the set up! 
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Justify ALL STEPS!
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16.								17. 
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18. Two angles are complementary. The measure of one angle is 21 more than twice the measure of the other angle. Find the measures of the angles.





19. If a supplement of an angle has a measure 78 less than the measure of the angle, what are the measures of the angles?
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Use the figure at the right to complete the statement.

1. Zland _2_are a linear pair, and so are Z1 and _?_.

><

2. Z2and _2_ are vertical angles.
3. It mZ3 = 150° then mZ2 = _2
4. 24

Find the measure of the numbered angle.
5. B~ 6. >< 7.
154>

Find mZ1, mZ2, and mZ3.
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Use the diagram to complete the statement.
M. mZKPL=_2_° 12. mLLPN=_2_° K

13. mZMPN = _2 14. mZMPO = _2 RN

Find the value of the variable. Then use substitution to find
mZPQR.

15.

18. The United Kingdom flag can be represented by four intersecting
lines that form cight angles. The horizontal and vertical lines are
angle bisectors, and the measure of Z1 is 26.6°. Find the measures
of the remaining angles.
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ALGEBRA In the figure, CB and CD are opposite rays,
TE bisects £DCF, and TG bisects FCB.

15.1f m/DCE = 4x + 15 and mZECF = 6x - 5,
find m2DCE.

16.1fm/FCG = 9x + 3 and m£GCB = 13x - 9,
find m 2 GCB.
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1. Find x and y so that NR L MQ.

2. Find m£MSN.

3.m/EBF = 3x + 10,m/DBE = x, and BD L BF. Find x.

4.1fm/EBF = Ty — 3 and m£FBC = 3y + 3, find y so
that EB 1 BC.

5. Find x, m£PQS, and m~SQR.

6. Find y, m£RPT, and m£TPW.





